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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. This Question Booklet is divided into two Parts—Part–I and Part–II. Part–I contains questions of
GENERAL STUDIES. Part–II contains questions of MATHEMATICS.

2. Part–I consists of Question Nos. 1 to 40 and Part–II consists of Question Nos. 41 to 120. All
questions and their responses are printed in English and Hindi versions both.

3. Attempt questions from Part–I and Part–II.

4. All questions carry equal marks.

5. Immediately after commencement of the examination, you should check up your Question
Booklet and ensure that the Question Booklet Series is printed on the top right-hand corner
of the Booklet. Please check that the Booklet contains 48 printed pages including two pages
(Page Nos. 46 and 47) for Rough Work and no page or question is missing or unprinted or
torn or repeated. If you find any defect in this Booklet, get it replaced immediately by a
complete Booklet of the same series.

6. You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

7. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Roll No., Question Booklet Series and other particulars in the space
provided on Page–1 of the Answer Sheet provided, failing which your Answer Sheet will not
be evaluated.

8. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint pen in
the space provided on Page–2 of your Answer Sheet. If you do not encode or fail to encode the
correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

9. Each question comprises of five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in
the Answer Sheet.

10. In the Answer Sheet, there are five circles— and against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
choice for each question. Select only one response for each question and mark it in your Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong.
Use Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure
or change is not allowed.

11. For each question for which a wrong answer has been given by the candidates, one-fourth of the
marks assigned to that question will be deducted as penalty.

12. You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet
to the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.

13. Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

14. Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept
in Self Adhesive LDPE Bag and completely packed/sealed in their presence.
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PART—I

( GENERAL STUDIES )

1. 10 years ago the ratio of ages

of Ramesh and Rajeev was 1 : 3.

5 years hence this ratio will

become 2 : 3. What is the ratio

of their ages at present?

(A) 2 : 5

(B) 3 : 5

(C) 1 : 2

(D) More than one of the above

(E) None of the above

2. If I walk with a speed of 5 km

per hour from my house to the

station, my train would have left

the station 7 minutes before my

arrival. But, if I walk with a

speed of 6 km per hour, I will

reach the station 5 minutes

before the departure of my

train. Accordingly, what is the

distance between my house and

the station?

(A) 7 km

(B) 6·5 km

(C) 6 km

(D) More than one of the above

(E) None of the above

3. The average monthly income of

P and Q is R 5,050. The average

monthly income of Q and R is

R 6,250 and the average

monthly income of P and R is

R 5,200. The monthly income of

P is

(A) R 3,500

(B) R 4,050

(C) R 4,000

(D) More than one of the above

(E) None of the above

4. If 30% of P is added to 40%

of Q , it becomes 80% of Q .

Accordingly, what is the

percentage of Q with respect

to P?

(A) 40%

(B) 50%

(C) 75%

(D) More than one of the above

(E) None of the above

5. A sum of money is to be

distributed among A, B , C , D in

the proportion of 5 : 2 : 4 : 3. If

C gets R 1,000 more than D,

what is B ’s share?

(A) R 500

(B) R 1,500

(C) R 2,000

(D) More than one of the above

(E) None of the above
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PART—I

( GENERAL STUDIES )

1. 10 df© nyd© a_oe Edß amOrd H$s Am`w H$m

AZwnmV 1 : 3 Wmü& A~ go 5 df© nÌMmV≤ `h

AZwnmV 2 : 3 hmo Om`oJmü& dV©_mZ _| CZH$s

Am`w H$m AZwnmV ä`m h°?

(A) 2 : 5

(B) 3 : 5

(C) 1 : 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

2. `{X _¢ AnZo Ka go 5 {H$0 _r0 ‡{V KßQ>m H$s

J{V go ÒQ>oeZ Ho$ {bE MbVm hˇ±, Vmo _oar JmãS>r

_oao ÒQ>oeZ nh˛±MZo go 7 {_ZQ> nhbo Ny>Q> MwH$s

hmoVr h°ü& {H$›Vw `{X _¢ 6 {H$0 _r0 ‡{V KßQ>m

H$s J{V go MbVm hˇ±, Vmo _¢ ÒQ>oeZ na JmãS>r Ho$

Ny>Q>Zo go 5 {_ZQ> nhbo nh˛±M OmVm hˇ±ü&

VXZwgma, _oao Ka Am°a ÒQ>oeZ Ho$ ~rM H$s Xyar

ä`m h°?

(A) 7 {H$0 _r0

(B) 6·5 {H$0 _r0

(C) 6 {H$0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

3. P Am°a Q H$s Am°gV _m{gH$ Am`

R 5,050 h°ü& Q Am°a R H$s Am°gV _m{gH$

Am` R 6,250 h° VWm P Am°a R H$s Am°gV

_m{gH$ Am` R 5,200 h°ü& P H$s _m{gH$

Am` h°

(A) R 3,500

(B) R 4,050

(C) R 4,000

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

4. `{X P H$m 30%, Q Ho$ 40% _| OmoãS> {X`m

Om`, Vmo dh Q H$m 80% hmo OmVm h°ü&

VXZwgma Q , P H$m {H$VZm ‡{VeV h°?

(A) 40%

(B) 50%

(C) 75%

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

5. A, B , C , D Ho$ ~rM 5 : 2 : 4 : 3 Ho$

AZwnmV _| YZ H$m {dVaU {H$`m OmZm h°ü& `{X

C H$mo D go R 1,000 A{YH$ {_bVo h¢, Vmo

B H$m {hÒgm ä`m h°?

(A) R 500

(B) R 1,500

(C) R 2,000

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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6. A shopkeeper gives a discount

of 5% on the selling price of a

watch. If he gives a discount of

6%, he will earn a profit which

is R 15 less than the before.

Accordingly, what is the marked

selling price of that watch?

(A) R 1,400

(B) R 1,500

(C) R 1,800

(D) More than one of the above

(E) None of the above

7. Three numbers are in the ratio

3 : 4 : 5. The total of the largest

and the smallest numbers is

equal to the other number

plus 52. Accordingly, which is

the smallest number?

(A) 27

(B) 39

(C) 52

(D) More than one of the above

(E) None of the above

8. If 2
1

8

2 1

3

n
n

-

-

= , then the value

of n is

(A) 3

(B) 2

(C) – 2

(D) More than one of the above

(E) None of the above

9. Which of the following photo-

electric devices is the most

suitable for digital applications?

(A) Photo-voltaic cell

(B) Photo-emissive cell

(C) Photo-diode

(D) More than one of the above

(E) None of the above

10. The critical mass of a fissionable

material is

(A) one kilogram equivalent

(B) the minimum mass needed

for chain reaction

(C) the rest mass equivalent to

1010 joules

(D) More than one of the above

(E) None of the above

11. Which of the following gases is

used to force the ripening of

fruits?

(A) Ethane

(B) Ethylene

(C) Methylene

(D) More than one of the above

(E) None of the above

12. Which one of the following has

zero octane number?

(A) Iso-octane

(B) Neo-octane

(C) n-octane

(D) More than one of the above

(E) None of the above
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6. EH$ XwH$mZXma EH$ KãS>r ~oMVo g_` {~H´$s _yÎ`

na 5% Ny>Q> XoVm h°ü& `{X dh Cg na 6%

Ny>Q> Xo XoVm h°, Vmo Cgo nhbo go R 15 H$_ H$m

bm^ {_boJmü& VXZwgma, Cg KãS>r H$m Aß{H$V

{~H´$s _yÎ` ä`m h°?

(A) R 1,400

(B) R 1,500

(C) R 1,800

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

7. VrZ gßª`mE± 3 : 4 : 5 Ho$ AZwnmV _| h¢ü&

CZ_| g~go ~ãS>r Edß g~go N>moQ>r gßª`mAm| H$m

`moJ, Xygar gßª`m VWm 52 Ho$ `moJ Ho$ ~am~a

h°ü& VXZwgma, g~go N>moQ>r gßª`m H$m°Z-gr h°?

(A) 27

(B) 39

(C) 52

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

8. `{X 2
1

8

2 1

3

n
n

-

-

= , Vmo n H$m _mZ h°

(A) 3

(B) 2

(C) – 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

9. {ZÂZ{b{IV _| go H$m°Z-gm \$moQ>mo-BbopäQ¥>H$

CnH$aU {S>{OQ>b AZw‡`moJm| Ho$ {bE g~go

Cn`w∫$ h°?

(A) \$moQ>mo-dmopÎQ>H$ gob

(B) \$moQ>mo-CÀgO©H$ gob

(C) \$moQ>mo-S>m`moS>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

10. {H$gr {dI�S>Zr` –Ï` H$m H´$mp›VH$ –Ï`_mZ

hmoJm

(A) EH$ {H$bmoJ´m_ g_VwÎ`

(B) ˚mß•Ibm A{^{H´$`m hoVw AmdÌ`H$ ›`yZV_

–Ï`_mZ

(C) 1010 Oyb Ho$ g_VwÎ` {dam_ –Ï`_mZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

11. \$bm| H$mo O~aXÒVr nH$mZo Ho$ {bE {ZÂZ{b{IV

_| go {H$g J°g H$m Cn`moJ {H$`m OmVm h°?

(A) B©WoZ

(B) E{WbrZ

(C) _o{WbrZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

12. {ZÂZ{b{IV _| go {H$gH$s Am∞äQ>oZ gßª`m

ey›` h°?

(A) AmBgmo-Am∞äQ>oZ

(B) {ZAmo-Am∞äQ>oZ

(C) n-Am∞äQ>oZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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13. The edible part of Litchis is

(A) aril

(B) thalamus

(C) seed coat

(D) More than one of the above

(E) None of the above

14. The physical process involved in

the release of molecular oxygen

from leaves is

(A) diffusion

(B) transpiration

(C) osmosis

(D) More than one of the above

(E) None of the above

15. The process of finding the

relative location of genes on a

chromosome is called

(A) genome walking

(B) chromosome walking

(C) gene mapping

(D) More than one of the above

(E) None of the above

16. Spore mother cell in bryophytes

is

(A) haploid

(B) diploid

(C) triploid

(D) More than one of the above

(E) None of the above

17. In which year was NGT (National

Green Tribunal) for protection

of environment and forest

established by the Government

of India?

(A) 2010

(B) 2011

(C) 2012

(D) More than one of the above

(E) None of the above

18. Which city of India started first

under-water metro?

(A) Kochi

(B) Visakhapatnam

(C) Bengaluru

(D) More than one of the above

(E) None of the above

19. Under India’s G20 Presidency,

where was the Tourism Working

Group Meeting held?

(A) Patna (Bihar)

(B) Srinagar (Jammu and

Kashmir)

(C) Ramnagar (Uttarakhand)

(D) More than one of the above

(E) None of the above

20. Who among the following got

the Silver Medal in the National

Under-17 Girls Wrestling

Championship?

(A) Liza Tomar

(B) Nirjala

(C) Pushpa Yadav

(D) More than one of the above

(E) None of the above
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13. brMr H$m Im⁄ ^mJ h°

(A) E[ab

(B) W°bo_g

(C) ~rO H$moQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

14. AmU{dH$ Am∞ägrOZ H$m n{Œm`m| go {ZH$bZm

H$m°Z-gr ^m°{VH$ {H´$`m h°?

(A) {dgaU

(B) dmÓnmoÀgO©Z

(C) namgaU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

15. {H$gr JwUgyÃ na OrZm| H$s Amno{jH$ pÒW{V

kmV H$aZo H$s ‡{H´$`m H$hbmVr h°

(A) OrZmo_ H$m MbZm

(B) JwUgyÃ H$m MbZm

(C) OrZ _mZ{MÃU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

16. ~´m`mo\$mBQ> _| ~rOmUw _mV• H$mo{eH$m hmoVr h°

(A) AJw{UV

(B) {¤Jw{UV

(C) {ÃJw{UV

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

17. ^maV gaH$ma ¤mam n`m©daU Am°a dZ H$s gwajm

Ho$ {bE {H$g df© NGT (Z°eZb J´rZ

{Q¥>„`yZb) H$s ÒWmnZm H$s JB© Wr?

(A) 2010

(B) 2011

(C) 2012

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

18. ^maV Ho$ {H$g eha Zo g~go nhbo nmZr Ho$

ZrMo _oQ¥>mo H$s ewÈAmV H$s?

(A) H$mo{É

(B) {demImnŒmZ_

(C) ~|JbwÈ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

19. ^maV H$s G20 A‹`jVm _| n`©Q>Z H$m`©g_yh

H$s ~°R>H$ H$hm± h˛B© Wr?

(A) nQ>Zm ({~hma)

(B) lrZJa (OÂ_y Am°a H$Ì_ra)

(C) am_ZJa (CŒmamIßS>)

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

20. BZ_| go {H$gZo amÔ¥>r` AßS>a-17 ~m{bH$m

Hw$ÌVr M°Ânr`Z{en _| aOV nXH$ ‡m· {H$`m?

(A) brµOm Vmo_a

(B) {ZO©bm

(C) nwÓnm `mXd

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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21. Who won the International

Booker Prize, 2022 for the novel,

Tomb of Sand ?

(A) Geetanjali Shree and Daisy

Rockwell

(B) David Diop and Anna

Moschovakis

(C) Marilyn Booth and Jokha

Alharthi

(D) More than one of the above

(E) None of the above

22. Who was the Chief Guest on

India’s 74th Republic Day?

(A) Mohammed bin Salman

(B) Abdel Fattah El-Sisi

(C) Sheikh Mohammed bin

Rashid Al Maktoum

(D) More than one of the above

(E) None of the above

23. In which district of Bihar, the

first floating solar power plant

has been built?

(A) Darbhanga

(B) West Champaran

(C) Madhubani

(D) More than one of the above

(E) None of the above

24. Which of the following has got

GI Tag in Bihar?

(A) Maghai Paan

(B) Basmati Rice

(C) Chanderi Saree

(D) More than one of the above

(E) None of the above

25. Match List–I with List–II :

List—I List—II

a. Char 1. Punjab plain

b. Kankar 2. Delta

c. Kayal 3. Bangar

d. Mand 4. Coastal plain

Select the correct answer using

the codes given below.

(A) a b c d

1 4 2 3

(B) a b c d

2 3 4 1

(C) a b c d

3 1 4 2

(D) More than one of the above

(E) None of the above

26. Which of the following

tributaries does not join

Brahmaputra river from north?

(A) Subansiri

(B) Belsiri

(C) Manas

(D) More than one of the above

(E) None of the above
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21. Cn›`mg Q>m∞Â~ Am∞\$ g¢S> Ho$ {bE A›Vam©Ô¥>r`

~wH$a nwaÒH$ma, 2022 {H$gZo OrVm?

(A) JrVmßO{b lr Am°a S>oµOr am∞H$dob

(B) S>o{dS> {S>Amon Am°a Afim _moÒH$modm{H$g

(C) _°ar{bZ ~yW Am°a OmoIm AÎhmWu

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

22. ^maV Ho$ 74d| JUVßÃ {Xdg na H$m°Z _wª`

A{V{W Wo?

(A) _mohÂ_X {~Z gb_mZ

(B) A„Xob \$Vh Ab-{ggr

(C) eoI _mohÂ_X {~Z am{eX Ab _H$Vy_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

23. {~hma Ho$ {H$g {µObo _| ‡W_ V°aVm h˛Am gmoba

D$Om© gß`ßÃ ~Zm`m J`m h°?

(A) Xa^ßJm

(B) npÌM_ MÂnmaU

(C) _Yw~Zr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

24. {~hma _| {ZÂZ{b{IV _| go {H$go GI Q>°J

{_bm h°?

(A) _Jhr nmZ

(B) ~mg_Vr Mmdb

(C) MßXoar gmãS>r

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

25. gyMr-I H$mo gyMr-II go gw_o{bV H$s{OE :

gyMr–I gyMr–II

a. Mma 1. nßOm~ H$m _°XmZ

b. Hß$H$a 2. S>oÎQ>m

c. H$m`b 3. ~mßJa

d. _mßS> 4. VQ>r` _°XmZ

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) a b c d

1 4 2 3

(B) a b c d

2 3 4 1

(C) a b c d

3 1 4 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

26. {ZÂZ{b{IV _| go H$m°Z-gr ghm`H$ ZXr

~´˜nwÃ go CŒma {Xem go Zht {_bVr h°?

(A) gw~Z{gar

(B) ~ob{gar

(C) _mZg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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27. Likhapani glacier is located in

which State of India?

(A) Arunachal Pradesh

(B) Himachal Pradesh

(C) Sikkim

(D) More than one of the above

(E) None of the above

28. Magadha and Anga plains are

parts of

(A) upper Ganga plain

(B) middle Ganga plain

(C) lower Ganga plain

(D) More than one of the above

(E) None of the above

29. Which of the following pairs of

waterfalls and rivers is not

correctly matched?

(A) Jog—Sharavati

(B) Kapildhara—Kaveri

(C) Dhuandhar—Godavari

(D) More than one of the above

(E) None of the above

30. Arrange the following seaports of

India from north to south :

1. Kakinada

2. Machilipatnam

3. Nagapattinam

4. Visakhapatnam

Select the correct answer using

the codes given below.

(A) 1, 2, 3, 4

(B) 4, 1, 2, 3

(C) 1, 3, 2, 4

(D) More than one of the above

(E) None of the above

31. The Agreement of Kosi Irrigation

and Hydroelectricity Plan in

1954 was signed between which

two countries?

(A) India and Bangladesh

(B) India and China

(C) India and Nepal

(D) More than one of the above

(E) None of the above

32. In which climatic division does

Bihar fall as per R. L. Singh’s

classification scheme?

(A) Humid south-east

(B) Subhumid transitional

(C) Subhumid continental

(D) More than one of the above

(E) None of the above
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27. {bImnmZr {h_ZX ^maV Ho$ {ZÂZ{b{IV _| go

{H$g am¡` _| pÒWV h°?

(A) AÈUmMb ‡Xoe

(B) {h_mMb ‡Xoe

(C) {g{∏$_

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

28. _JY Edß AßJ H$m _°XmZ {H$gHo$ {hÒgo h¢?

(A) D$nar JßJm H$m _°XmZ

(B) _‹` JßJm H$m _°XmZ

(C) {ZÂZ JßJm H$m _°XmZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

29. Ob‡nmV Am°a ZXr Ho$ {ZÂZ{b{IV OmoãS>m| _| go

H$m°Z-gm OmoãS>m ghr gw_o{bV Zht h°?

(A) OmoJ—eamdVr

(B) H${nbYmam—H$mdoar

(C) YwAm±Yma—JmoXmdar

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

30. ^maV Ho$ {ZÂZ{b{IV ~ßXaJmhm| H$mo CŒma go

X{jU {Xem _| Ï`dpÒWV H$s{OE :

1. H$mH$sZmãS>m

2. _N>brn≈>Z_

3. ZmJn{≈>Z_

4. {demImnŒmZ_

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) 1, 2, 3, 4

(B) 4, 1, 2, 3

(C) 1, 3, 2, 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

31. 1954 _| {H$Z Xmo Xoem| Ho$ ~rM H$mogr qgMmB©

Edß Ob{d⁄wV≤ n[a`moOZm g_Pm°Vm hÒVmj[aV

h˛Am Wm?

(A) ^maVdf© Am°a ~mßΩbmXoe

(B) ^maVdf© Am°a MrZ

(C) ^maVdf© Am°a Zonmb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

32. Ama0 Eb0 qgh Ho$ dJuH$aU ÒH$s_ Ho$

AZwgma, {~hma {H$g ‡H$ma Ho$ Obdm`w ‡Xoe

_| AmVm h°?

(A) Am–© X{jU-nyd©

(B) Cnm–© gßH´$_UH$mbrZ

(C) Cnm–© _hm¤rnr`

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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33. In which Session of the Indian

National Congress was the

resolution of ‘Purna Swaraj’

adopted?

(A) Kanpur Session, 1925

(B) Lahore Session, 1929

(C) Karachi Session, 1931

(D) More than one of the above

(E) None of the above

34. What was an initial objective of

‘Kuka Movement’ in Punjab?

(A) To purify the Sikh religion

(B) To gain political power in

Punjab

(C) Organization of peasant

movement

(D) More than one of the above

(E) None of the above

35. Who described the Revolt of

1857 as the ‘First Indian War of

Independence’?

(A) V. D. Savarkar

(B) Bal Gangadhar Tilak

(C) Bipin Chandra Pal

(D) More than one of the above

(E) None of the above

36. Where was the first instance of

organized non-cooperation in

the history of Indian peasantry

held?

(A) Bihar and Bengal

(B) Madras Presidency

(C) Punjab Province

(D) More than one of the above

(E) None of the above

37. Which portfolio did Dr. Rajendra

Prasad hold during the Interim

Government of 1946?

(A) Defence

(B) Home

(C) Food and Agriculture

(D) More than one of the above

(E) None of the above

38. Who among the following

particularly urged Gandhiji to

visit Champaran to witness the

miseries of the Ryots?

(A) Brijkishore Prasad

(B) Rajkumar Shukla

(C) Sukhram Ganesh

(D) More than one of the above

(E) None of the above

39. The ‘Day of Deliverance’ was

observed by the Muslim League

on which date?

(A) 22nd December, 1939

(B) 17th October, 1939

(C) 22nd December, 1940

(D) More than one of the above

(E) None of the above

40. Who laid the foundation stone

of National College and Bihar

Vidyapeeth?

(A) Dr. Rajendra Prasad

(B) Maulana Abdul Bari

(C) Mahatma Gandhi

(D) More than one of the above

(E) None of the above
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33. ^maVr` amÔ¥>r` H$mßJ´og Ho$ {H$g A{YdoeZ _|

"nyU© ÒdamO' H$m {g’m›V J•hrV h˛Am Wm?

(A) H$mZnwa A{YdoeZ, 1925

(B) bmhm°a A{YdoeZ, 1929

(C) H$amMr A{YdoeZ, 1931

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

34. nßOm~ _| "Hy$H$m Am›XmobZ' H$m ‡mapÂ^H$ C‘oÌ`

ä`m Wm?

(A) {gäI Y_© H$mo n[aÓH•$V H$aZm

(B) nßOm~ _| amOZr{VH$ e{∫$ ‡m· H$aZm

(C) H•$fH$ Am›XmobZ H$m gßJR>Z

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

35. 1857 Ho$ {d–moh H$mo {H$gHo$ ¤mam "‡W_

^maVr` ÒdVßÃVm gßJ´m_' Ho$ Í$n _| d{U©V

{H$`m J`m Wm?

(A) dr0 S>r0 gmdaH$a

(B) ~mb JßJmYa {VbH$

(C) {~{nZ M›– nmb

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

36. ^maVr` {H$gmZm| Ho$ B{Vhmg _| gßJ{R>V

Agh`moJ H$m ‡W_ CXmhaU H$hm± K{Q>V h˛Am

Wm?

(A) {~hma Am°a ~ßJmb

(B) _–mg ‡ogrS>|gr

(C) nßOm~ ‡m∞{d›g

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

37. df© 1946 _| ~Zr A›V[a_ gaH$ma _|

S>m∞0 amOo›– ‡gmX Ho$ nmg H$m°Z-gm {d^mJ

Wm?

(A) ajm

(B) J•h

(C) Im⁄ Edß H•${f

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

38. Jm±YrOr H$mo {deof Í$n go MÂnmaU AmZo Am°a

dhm± Ho$ H•$fH$m| H$s X`Zr` pÒW{V H$mo XoIZo hoVw

{H$gZo AZwJ´h {H$`m Wm?

(A) ~•O{H$emoa ‡gmX

(B) amOHw$_ma ewäb

(C) gwIam_ JUoe

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

39. _wpÒb_ brJ ¤mam {H$g {V{W H$mo "_w{∫$ {Xdg'

_Zm`m J`m Wm?

(A) 22 {XgÂ~a, 1939

(B) 17 A∫y$~a, 1939

(C) 22 {XgÂ~a, 1940

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

40. Z°eZb H$m∞boO Am°a {~hma {d⁄mnrR> H$m

{ebm›`mg {H$gZo {H$`m Wm?

(A) S>m∞0 amOo›– ‡gmX

(B) _m°bmZm A„Xwb ~mar

(C) _hmÀ_m Jm±Yr

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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PART—II

( MATHEMATICS )

41. During conversion of a solid

from one shape to another, the

volume of the solid will

(A) decrease

(B) remain unaltered

(C) increase

(D) More than one of the above

(E) None of the above

42. The Cartesian coordinates of

three points A, B and C are

( , )1 1- , ( , )3 4- and ( , )5 7-

respectively. Then the D ABC is

(A) isosceles

(B) equilateral

(C) right-angled

(D) More than one of the above

(E) None of the above

43. A sweet seller has 420 Kaju

Burfis and 150 Badam Burfis.

He wants to stack them in such

a way that each stack has the

same number, and they take up

the least area of the tray. The

number of such stacks formed is

(A) 17

(B) 19

(C) 18

(D) More than one of the above

(E) None of the above

44. Let x y+ + =2 4 0 and

- + - =4 2 3 0x y be the equations

of two straight lines. Then

(A) they are parallel

(B) both are passing through

the origin

(C) one is passing through the

origin

(D) More than one of the above

(E) None of the above

45. Pritam and Rana drive around

a circular sports field. Pritam

takes 16 minutes to take one

round while Rana completes the

round in 20 minutes. If both

start from the same point, at the

same time and in the same

direction, after how much time

will they meet at the starting

point?

(A) 80 minutes

(B) 32 minutes

(C) 40 minutes

(D) More than one of the above

(E) None of the above
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PART—II

( MATHEMATICS )

41. {H$gr R>mog H$mo EH$ AmH•${V go Xygar AmH•${V

_| ~XbZo Ho$ Xm°amZ, R>mog H$m Am`VZ

(A) KQ>oJm

(B) An[ad{V©V ahoJm

(C) ~ãT>oJm

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

42. VrZ {~›XwAm| A, B VWm C Ho$ H$mVu`

{ZX}emßH$ H´$_eÖ ( , )1 1- , ( , )3 4- VWm

( , )5 7- h¢ü& V~ D ABC h°

(A) g_{¤~mh˛

(B) g_~mh˛

(C) g_H$moU

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

43. EH$ {_R>mB© {dH´o$Vm Ho$ nmg 420 H$mOy H$s

~{\©$`m± Am°a 150 ~mXm_ H$s ~{\©$`m± h°ßü& dh

C›h| Bg Vah go T>oa H$aZm MmhVm h° {H$ ‡À`oH$

T>oa _| CZH$s gßª`m g_mZ hmo, Am°a do Q¥>o H$m

H$_-go-H$_ joÃ Koa|ü& Bg ‡H$ma ~ZZo dmbo

T>oam| H$s gßª`m h°

(A) 17

(B) 19

(C) 18

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

44. _mZm x y+ + =2 4 0 VWm

- + - =4 2 3 0x y Xmo gab aoImAm| Ho$

g_rH$aU h°ßü& V~

(A) do g_mZm›Va h¢

(B) XmoZmoß _yb{~›Xw go hmoH$a OmVr h¢

(C) EH$ _yb{~›Xw go hmoH$a OmVr h°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

45. ‡rV_ Am°a amUm EH$ JmobmH$ma Iob Ho$ _°XmZ

Ho$ Mmam| Amoa M∏$a bJmVo h¢ü& ‡rV_ EH$ M∏$a

bJmZo _| 16 {_ZQ> boVm h° O~{H$ amUm

20 {_ZQ> _| M∏$a nyam H$aVm h°ü& `{X XmoZm|

EH$ hr {~›Xw go, EH$ hr g_` na Am°a EH$ hr

{Xem _| MbZm ewÍ$ H$aVo h¢, Vmo do ‡maß{^H$

{~›Xw na {H$VZo g_` ~mX {_b|Jo?

(A) 80 {_ZQ>

(B) 32 {_ZQ>

(C) 40 {_ZQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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46. The largest number that divides

450, 577 and 704, leaving

remainders 9, 10 and 11

respectively, is

(A) 63

(B) 577

(C) 450

(D) More than one of the above

(E) None of the above

47. If a, b, g are the zeros of the

polynomial x x x3 26 30- - + ,

then the value of ab bg ga+ + is

(A) 1

(B) -1

(C) 6

(D) More than one of the above

(E) None of the above

48. If sinq =

m

n
, then the value of

tan

cot

q

q

+

+

4

4 1

is

(A)
m

n m2
-

(B)
n

n m2
-

(C)
m

m n2 2
-

(D) More than one of the above

(E) None of the above

49. If the nth term of an arithmetic

progression is ( )2 1n + , then the

sum of its first three terms is

(A) 6 3n +

(B) 15

(C) 12

(D) More than one of the above

(E) None of the above

50. DABC and DDBC are on the

same base BC and on the

opposite sides of BC . If O is the

intersection point of the

diagonals AD and BC , then

Area of

Area of

D

D

ABC

DBC

is equal to

(A)
BO

CO

(B)
AO

DO

(C)
AO

CO

(D) More than one of the above

(E) None of the above
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46. dh g~go ~ãS>r gßª`m, Omo 450, 577 VWm

704 H$mo {d^m{OV H$aZo na eof\$b H´$_eÖ

9, 10 VWm 11 XoVr h°, h°

(A) 63

(B) 577

(C) 450

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

47. `{X a, b, g ~h˛nX x x x3 26 30- - +

Ho$ ey›` h¢, Vmo ab bg ga+ + H$m _mZ h°

(A) 1

(B) -1

(C) 6

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

48. `{X sinq =

m

n
hmo, Vmo

tan

cot

q

q

+

+

4

4 1
H$m

_mZ h°

(A)
m

n m2
-

(B)
n

n m2
-

(C)
m

m n2 2
-

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

49. `{X g_m›Va loUr H$m ndm± nX ( )2 1n + h°,

Vmo BgHo$ nhbo VrZ nXm| H$m `moJ h°

(A) 6 3n +

(B) 15

(C) 12

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

50. DABC VWm DDBC H$m AmYma BC h°

VWm BC H$s {dnarV {XemAm| _| XmoZm| {Ã^wO

h¢ü& `{X O, {dH$U© AD VWm BC H$m

‡{V¿N>oX {~›Xw h°, Vmo

DABC H$m joÃ\$b

DDBC H$m joÃ\$b

~am~a h°

(A)
BO

CO

(B)
AO

DO

(C)
AO

CO

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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51. Places A and B are 100 km apart

on a highway. One car starts

from A and another from B at

the same time. If the cars travel

in the same direction at different

speeds, they meet in 5 hours. If

they travel towards each other,

they meet in 1 hour. What are

the speeds of the two cars?

(A) 60 km/hr, 40 km/hr

(B) 30 km/hr, 70 km/hr

(C) 20 km/hr, 80 km/hr

(D) More than one of the above

(E) None of the above

52. The sum of the squares of two

positive integers is 306. If

the square of the larger integer

is 25 times the smaller integer,

then the difference between the

two integers is

(A) 6

(B) 10

(C) 1

(D) More than one of the above

(E) None of the above

53. Consider the following frequency

distribution :

Class Frequency

0–10 3

10–20 9

20–30 15

30–40 30

40–50 18

50–60 5

The modal class is

(A) 20–30

(B) 30–40

(C) 40–50

(D) More than one of the above

(E) None of the above

54. If two diagonals AC and DB of

a quadrilateral ABCD intersect

at a point E such that

AE EC: :: :1 2 and BE ED: :: :3 6

then ABCD is

(A) an arbitrary quadrilateral

(B) a rhombus

(C) a parallelogram

(D) More than one of the above

(E) None of the above
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51. ÒWmZ A Am°a ÒWmZ B EH$ amO_mJ© na

100 {H$0 _r0 Xya pÒWV h¢ü& EH$ hr g_` _|

EH$ H$ma A go Am°a Xygar B go MbZm ewÍ$

H$aVr h°ü& `{X H$ma| EH$ hr {Xem _|

AbJ-AbJ J{V go MbVr h¢, Vmo do 5 KßQ>o

_| {_bVr h¢ü& `{X do EH$-Xygao H$s Amoa MbVr

h¢, Vmo do 1 KßQ>o _| {_bVr h¢ü& XmoZm| H$mam| H$s

J{V`m± ä`m h°ß?

(A) 60 {H$0 _r0/KßQ>m, 40 {H$0 _r0/

KßQ>m

(B) 30 {H$0 _r0/KßQ>m, 70 {H$0 _r0/

KßQ>m

(C) 20 {H$0 _r0/KßQ>m, 80 {H$0 _r0/

KßQ>m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

52. Xmo YZ nyUm™H$ gßª`mAm| Ho$ dJm] H$m `moJ 306

h°ü& `{X ~ãS>r nyUm™H$ gßª`m H$m dJ©, N>moQ>r

nyUm™H$ gßª`m H$m 25 JwZm h°, V~ CZH$m

A›Va h°

(A) 6

(B) 10

(C) 1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

53. {ZÂZ{b{IV Amd•{Œm ~ßQ>Z na {dMma H$s{OE :

äbmg Amd•{Œm

0–10 3

10–20 9

20–30 15

30–40 30

40–50 18

50–60 5

_moS>b äbmg hmoJm

(A) 20–30

(B) 30–40

(C) 40–50

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

54. `{X MVw^©wO ABCD Ho$ {dH$U© AC VWm

DB, {~›Xw E na Bg ‡H$ma ‡{V¿N>oX

H$aVo h¢ {H$ AE EC: :: :1 2 VWm

BE ED: :: :3 6, Vmo ABCD h°

(A) EH$ `m—p¿N>H$ MVw^©wO

(B) EH$ g_MVw^©wO

(C) EH$ g_m›Va-MVw^©wO

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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55. Find the two numbers such that

the sum of thrice the first and

the second is 142, and four

times the first exceeds the

second by 138.

(A) 42, 20

(B) 32, 40

(C) 40, 22

(D) More than one of the above

(E) None of the above

56. If the slope of the line joining

the points ( , )k 4 and ( , )- -3 2 is
1

2
,

then the value of k is

(A) 3

(B) -9

(C) 9

(D) More than one of the above

(E) None of the above

57. A person on tour has R4,200 for

his expenses. If he extends his

tour for 3 days, he has to cut

down his daily expenses by R70.

The original duration of the tour

will be

(A) 14 days

(B) 12 days

(C) 16 days

(D) More than one of the above

(E) None of the above

58. A motorboat, whose speed is

18 km/hr in still water, takes

one hour more to go 24 km

upstream than to return

downstream to the same spot.

The speed of the stream is

(A) -54 km/hr

(B) 6 km/hr

(C) 10 km/hr

(D) More than one of the above

(E) None of the above

59. Find the centre of a circle

passing through the points

( , )6 6- , ( , )3 7- and ( , )3 3 .

(A) ( , )3 3

(B) ( , )3 2-

(C) ( , )2 3-

(D) More than one of the above

(E) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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55. Xmo gßª`mE± Bg ‡H$ma kmV H$s{OE {H$ nhbr

H$m VrZ JwZm Am°a Xygar H$m `moJ 142 h°,

Am°a nhbr H$m Mma JwZm Xygar gßª`m go 138

A{YH$ h°ü&

(A) 42, 20

(B) 32, 40

(C) 40, 22

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

56. `{X Xmo {~›XwAm| ( , )k 4 VWm ( , )- -3 2 H$mo

{_bmZo dmbr aoIm H$s ‡dUVm
1

2
h°, Vmo k H$m

_mZ h°

(A) 3

(B) -9

(C) 9

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

57. Xm°ao na JE EH$ Ï`{∫$ Ho$ nmg AnZo IM}

Ho$ {bE R4,200 h¢ü& `{X dh AnZo Xm°ao H$mo

3 {XZm| Ho$ {bE ~ãT>m XoVm h°, Vmo Cgo AnZo

X°{ZH$ IMm] _| R70 H$s H$Q>m°Vr H$aZr hmoJrü&

Xm°ao H$s _yb Ad{Y hmoJr

(A) 14 {XZ

(B) 12 {XZ

(C) 16 {XZ

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

58. EH$ _moQ>a~moQ>, {OgH$s pÒWa Ob _| J{V

18 {H$0 _r0/KßQ>m h°, Ymam H$s {dnarV {Xem

_| 24 {H$0 _r0 H$s Xyar V` H$aZo _|, Ymam

H$s {Xem _o| Cgr ÒWmZ na bm°Q>Zo H$s VwbZm _|

EH$ KßQ>m A{YH$ g_` boVr h°ü& Ymam H$s

J{V h°

(A) -54 {H$0 _r0/KßQ>m

(B) 6 {H$0 _r0/KßQ>m

(C) 10 {H$0 _r0/KßQ>m

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

59. {~›XwAm| ( , )6 6- , ( , )3 7- Am°a ( , )3 3 go

hmoH$a OmZo dmbo d•Œm H$m Ho$›– kmV H$s{OEü&

(A) ( , )3 3

(B) ( , )3 2-

(C) ( , )2 3-

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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60. Two water taps together can fill

a tank in 9
3

8
hours. The tap of

larger diameter takes 10 hours

less than the smaller one to fill

the tank separately. The time

(in hours) in which each tap can

separately fill the tank is

respectively

(A) 10, 20

(B) 15, 25

(C) 5, 15

(D) More than one of the above

(E) None of the above

61. In a class test, the sum of

Kamal’s marks in Mathematics

and English is 40. Had he got

3 marks more in Mathematics

and 4 marks less in English, the

product of the marks would

have been 360. The marks

obtained by Kamal in two

subjects separately are

(A) 21, 19

(B) 12, 28

(C) 21, 12

(D) More than one of the above

(E) None of the above

62. A bag contains 2 red, 3 green

and 2 blue balls. Two balls

are drawn at random. The

probability that none of the balls

drawn is blue is

(A)
10

21

(B)
11

21

(C)
2

7

(D) More than one of the above

(E) None of the above

63. A man saved R33,000 in

10 months. In each month after

the first, he saved R100 more

than he did in the preceding

month. How much did he save

in the first month?

(A) R2,850

(B) R1,850

(C) R1,900

(D) More than one of the above

(E) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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60. Xmo nmZr Ho$ Zb EH$gmW EH$ Q>ßH$s H$mo 9
3

8
KßQ>o

_| ^a gH$Vo h¢ü& `{X Zb, {OgH$m Ï`mg

A{YH$ h°, Q>ßH$s H$mo AHo$bo ^aZo _| N>moQ>o Ï`mg

dmbo Zb go 10 KßQ>o H$_ bJmVm h°, Vmo ‡À`oH$

Zb ¤mam Q>ßH$s H$mo ^a gH$Zo _| bJm g_`

(KßQ>o _|) h°, H´$_eÖ

(A) 10, 20

(B) 15, 25

(C) 5, 15

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

61. EH$ äbmg Q>oÒQ> _|, H$_b Ho$ J{UV Am°a

AßJ´oOr _| ‡m· AßH$m| H$m `moJ 40 h°ü& `{X Cgo

J{UV _| 3 AßH$ A{YH$ Am°a AßJ´oOr _|

4 AßH$ H$_ {_bVo, Vmo AßH$m| H$m JwUZ\$b

360 hmoVmü& H$_b ¤mam XmoZm| {df`m| _|

AbJ-AbJ ‡m· AßH$ h¢

(A) 21, 19

(B) 12, 28

(C) 21, 12

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

62. EH$ W°bo _| 2 bmb, 3 har VWm 2 Zrbr J|Xoß

h¢ü& XmoZm| J|Xmoß H$mo `m—p¿N>H$ Í$n go {ZH$mbm

OmVm h°ü& XmoZm| J|Xmoß _| go {H$gr Ho$ ^r Zrbm Z

hmoZo H$s ‡m{`H$Vm h°

(A)
10

21

(B)
11

21

(C)
2

7

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

63. EH$ AmX_r Zo 10 _hrZo _| R33,000 H$s

~MV H$sü& nhbo _hrZo Ho$ ~mX ha _hrZo, CgZo

{nN>bo _hrZo H$s VwbZm _| R100 A{YH$

~MV H$sü& CgZo nhbo _hrZo _| {H$VZo H$s

~MV H$s?

(A) R2,850

(B) R1,850

(C) R1,900

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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64. The area of a square field is

24200 square metres. At the

rate of 6·6 km/hr, how much

time will a lady take to cross the

field diagonally?

(A) 3 minutes

(B) 2 minutes

(C) 2·4 minutes

(D) More than one of the above

(E) None of the above

65. The sum of all three-digit

natural numbers, multiple of

11, is

(A) 44540

(B) 44550

(C) 54540

(D) More than one of the above

(E) None of the above

66. For what value of k, the

equations

3 1 4 24

15 20 8 13

( )

( )

k x y

x y k

- + =

+ = +

have infinitely many solutions?

(A) 2

(B) -2

(C) 3

(D) More than one of the above

(E) None of the above

67. The value of p such that the

points A( , )4 7 , B p( , )3 , C ( , )7 3 are

the vertices of a right-angled

triangle, having right angle at B,

is

(A) 3

(B) 5

(C) 4

(D) More than one of the above

(E) None of the above

A (4, 7)

B p( , 3) C (7, 3)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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64. EH$ dJm©H$ma IoV H$m joÃ\$b 24200 dJ©

_rQ>a h°ü& 6·6 {H$0 _r0/KßQ>m H$s Xa go EH$

_{hbm Cg IoV H$mo {VaN>m {H$VZo g_` _| nma

H$a boJr?

(A) 3 {_ZQ>

(B) 2 {_ZQ>

(C) 2·4 {_ZQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

65. g^r VrZ-AßH$s` ‡mH•$V gßª`mAm|, Omo 11 Ho$

JwUH$ h¢, H$m `moJ hmoJm

(A) 44540

(B) 44550

(C) 54540

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

66. k Ho$ {H$g _mZ Ho$ {bE g_rH$aU

3 1 4 24

15 20 8 13

( )

( )

k x y

x y k

- + =

+ = +

AZ›V hb aIVo h¢?

(A) 2

(B) -2

(C) 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

67. p H$m _mZ, Omo Bg ‡H$ma h° {H$ {~›Xw

A( , )4 7 , B p( , )3 , C ( , )7 3

EH$ g_H$moU {Ã^wO Ho$ erf© h¢, {OgH$m B na

g_H$moU h°, h°

(A) 3

(B) 5

(C) 4

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

A (4, 7)

B p( , 3) C (7, 3)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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68. A 5 cm cube is cut into as many

1 cm cubes as possible. The

ratio of the surface area of the

larger cube to that of the sum of

the surface areas of the smaller

cubes is

(A) 1 : 6

(B) 1 : 5

(C) 1 : 25

(D) More than one of the above

(E) None of the above

69. In a DABC , AD is the bisector of

ÐA. If AB = ×6 4 cm, AC = 8 cm

and BD = ×5 6 cm, then the value

of DC is

(A) 7 cm

(B) 9 cm

(C) 12 cm

(D) More than one of the above

(E) None of the above

70. The sum of LCM and HCF of two

numbers is 1260. If their LCM is

900 more than their HCF, then

the product of the two numbers

is

(A) 203400

(B) 194400

(C) 198400

(D) More than one of the above

(E) None of the above

71. If the bisector of an angle of

a triangle bisects the opposite

side, then the triangle is

(A) equilateral

(B) right-angled

(C) isosceles

(D) More than one of the above

(E) None of the above

72. The angles of elevation of the top

of a tower from two points at

distances of 4 m and 9 m from

the base of the tower and in the

same straight line with it are

complementary. Then the height

of the tower is

(A) 6 m

(B) 10 m

(C) 9 m

(D) More than one of the above

(E) None of the above

C

A

B
D

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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68. EH$ 5 go0 _r0 ^wOm dmbo KZ H$mo,

1 go0 _r0 ^wOm dmbo gÂ^d gßª`m Ho$ KZm| _|

H$mQ>m OmVm h°ü& ~ãS>o KZ Ho$ n•>r` joÃ\$b VWm

N>moQ>o KZm| Ho$ n•>r` joÃ\$bm| Ho$ `moJ H$m

AZwnmV h°

(A) 1 : 6

(B) 1 : 5

(C) 1 : 25

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

69. EH$ DABC _|, ÐA H$m g_{¤^mOH$ AD

h°ü& AJa AB = ×6 4 go0 _r0, AC =

8 go0 _r0 Am°a BD = ×5 6 go0 _r0 hmo,

Vmo DC H$m _mZ h°

(A) 7 go0 _r0

(B) 9 go0 _r0

(C) 12 go0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

70. Xmo gßª`mAm| Ho$ bKwV_ g_mndÀ`© VWm _hŒm_

g_mndV©H$ H$m `moJ 1260 h°ü& `{X

CZH$m bKwV_ g_mndÀ`©, _hŒm_ g_mndV©H$

go 900 A{YH$ h°, V~ CZ Xmo gßª`mAm| H$m

JwUZ\$b h°

(A) 203400

(B) 194400

(C) 198400

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

71. `{X {H$gr {Ã^wO Ho$ EH$ H$moU H$m

g_{¤^mOH$, {dnarV ^wOm H$mo g_{¤^m{OV

H$aVm h°, Vmo {Ã^wO h°

(A) g_~mh˛

(B) g_H$moU

(C) g_{¤~mh˛

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

72. EH$ _rZma Ho$ erf© Ho$ _rZma Ho$ AmYma go OmZo

dmbr gab aoIm na _rZma nmX go 4 _r0 Edß

9 _r0 H$s Xyar na pÒWV {H$›ht Xmo {~›XwAm| go

Cfi`Z H$moU EH$-Xygao Ho$ nyaH$ h°ßü& _rZma H$s

D±$MmB© h°

(A) 6 _r0

(B) 10 _r0

(C) 9 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

C

A

B
D

https://applink.adda247.com/d/XhqWf9lSap
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73. The area of a rhombus is

480 2cm and the length of one

of its diagonals is 20 cm. The

length of each side of the

rhombus is

(A) 24 cm

(B) 30 cm

(C) 26 cm

(D) More than one of the above

(E) None of the above

74. The factors of 2 1287a a- are

(A) a a a( ) ( )+ -2 23 3

(B) 2 2 2 2 42a a a a a( )( )( )+ - + -

( )a a2 2 4- -

(C) 2 2 2 2 42a a a a a( )( )( )+ - + +

( )a a2 2 4- +

(D) More than one of the above

(E) None of the above

75. Which of the following pairs of

lines in a circle cannot be

parallel?

(A) Two chords

(B) A chord and a tangent

(C) Two diameters

(D) More than one of the above

(E) None of the above

76. A bag contains 5 red balls

and some blue balls. If the

probability of drawing a blue

ball from the bag is four times

that of a red ball, then the

number of blue balls in the

bag is

(A) 10

(B) 40

(C) 20

(D) More than one of the above

(E) None of the above

77. If sin sinA A+ =
2 1, then

cos cos ?2 4A A+ =

(A) 2

(B) 1

(C) -1

(D) More than one of the above

(E) None of the above

78. The probability of an event can

be

(A) - ×0 04

(B) 1·00009

(C)
18

23

(D) More than one of the above

(E) None of the above

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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73. EH$ g_MVw^©wO H$m joÃ\$b 480 dJ©

go0 _r0 h° Am°a BgHo$ EH$ {dH$U© H$s bÂ~mB©

20 go0 _r0 h°ü& g_MVw^©wO H$s ‡À`oH$ ^wOm

H$s bÂ~mB© h°

(A) 24 go0 _r0

(B) 30 go0 _r0

(C) 26 go0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

74. 2 1287a a- Ho$ JwUZI�S> h¢

(A) a a a( ) ( )+ -2 23 3

(B) 2 2 2 2 42a a a a a( )( )( )+ - + -

( )a a2 2 4- -

(C) 2 2 2 2 42a a a a a( )( )( )+ - + +

( )a a2 2 4- +

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

75. EH$ d•Œm _|, {ZÂZ{b{IV _| go H$m°Z-gm

aoIm-`wΩ_ g_mZm›Va Zht hmo gH$Vm h°?

(A) Xmo Ordm

(B) EH$ Ordm Am°a EH$ Òne©-aoIm

(C) Xmo Ï`mg

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

76. EH$ W°bo _| 5 bmb Edß Hw$N> Zrbr J|Xoß h¢ü&

`{X EH$ Zrbr J|X {ZH$mbZo H$s ‡m{`H$Vm,

bmb J|X {ZH$mbZo H$s ‡m{`H$Vm H$s Mma JwZr

h°, V~ W°bo _| pÒWV Zrbr J|Xmoß H$s gßª`m h°

(A) 10

(B) 40

(C) 20

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

77. `{X sin sinA A+ =
2 1, Vmo

cos cos ?2 4A A+ =

(A) 2

(B) 1

(C) -1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

78. {H$gr KQ>Zm H$s ‡m{`H$Vm hmo gH$Vr h°

(A) - ×0 04

(B) 1·00009

(C)
18

23

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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79. The angle of depression of a car,

parked on the road, from the top

of a 150 m high tower is 30°.

The distance of the car from the

tower is

(A) 50 3 m

(B) 150 3 m

(C) 75 m

(D) More than one of the above

(E) None of the above

80. A hemispherical bowl of internal

diameter 36 cm is full of liquid.

The liquid is to be filled into

cylindrical shaped bottles each

of radius 3 cm and height 9 cm.

The number of bottles is

(A) 96

(B) 48

(C) 24

(D) More than one of the above

(E) None of the above

81. A kite is flying at a height of

30 m from the ground. The

length of the string from the kite

to the ground is 60 m. Assuming

that there is no slack in the

string, the angle of elevation of

the kite at the ground is

(A) 45°

(B) 60°

(C) 30°

(D) More than one of the above

(E) None of the above

82. A carton consists of 100 shirts of

which 88 are good, 8 have minor

defects and 4 have major

defects. Jimmy, a trader, will

only accept the shirts which are

good, but Sujata, another

trader, will only reject the shirts

which have major defects.

One shirt is drawn at random

from the carton. The proba-

bilities that it is not acceptable

to Jimmy and acceptable to

Sujata are

(A) 0·12, 0·96

(B) 0·88, 0·96

(C) 0·12, 0·04

(D) More than one of the above

(E) None of the above

83. Find the area of the triangle

whose sides are 42 cm, 34 cm

and 20 cm.

(A) 330 cm2

(B) 360 cm2

(C) 336 cm2

(D) More than one of the above

(E) None of the above
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79. 150 _r0 D±$Mr EH$ _rZma Ho$ erf© go gãS>H$

na IãS>r EH$ H$ma H$m AdZ_Z H$moU 30° h°ü&

_rZma go H$ma H$s Xyar h°

(A) 50 3 _r0

(B) 150 3 _r0

(C) 75 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

80. EH$ AY©JmobmH$ma H$Q>moam, {OgH$m Am›V[aH$

Ï`mg 36 go0 _r0 h°, –d go nyam ^am h°ü& Bg

–d H$mo 3 go0 _r0 {Ã¡`m Edß 9 go0 _r0

D$±MmB© dmbr ~obZmH$ma ~moVbm| _| ^am OmZm

h°ü& ~moVbm| H$s gßª`m h°

(A) 96

(B) 48

(C) 24

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

81. EH$ nVßJ O_rZ go 30 _r0 H$s D±$MmB© na CãS>

ahr h°ü& nVßJ go O_rZ VH$ S>moar H$s bÂ~mB©

60 _r0 h°ü& `h _mZVo h˛E {H$ S>moar _| H$moB©

T>rbmnZ Zht h°, O_rZ na nVßJ H$m Cfi`Z

H$moU h°

(A) 45°

(B) 60°

(C) 30°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

82. EH$ ~m∞äg _| 100 eQ>© h¢, {OZ_| 88 A¿N>r

h¢, 8 _| H$_ Xmof h° VWm 4 _| ~ãS>m Xmof h°ü&

{OÂ_r EH$ Ï`dgm`r h° Omo Ho$db A¿N>r eQ>©

ÒdrH$ma H$aVm h° na›Vw gwOmVm EH$ A›`

Ï`dgm`r h° Omo Ho$db CZ eQ>m] H$mo AÒdrH$ma

H$aVr h° {OZ_| ~ãS>m Xmof h°ü& EH$ eQ>© H$mo

`m—¿N>>`m ~m∞äg go {ZH$mbm OmVm h°ü& {OÂ_r

¤mam Bgo ÒdrH$ma Z H$aZo Edß gwOmVm ¤mam Bgo

ÒdrH$ma H$aZo H$s ‡m{`H$VmE± h°ß

(A) 0·12, 0·96

(B) 0·88, 0·96

(C) 0·12, 0·04

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

83. Cg {Ã^wO H$m joÃ\$b kmV H$s{OE, {OgH$s

^wOmE± 42 go0 _r0, 34 go0 _r0 Am°a

20 go0 _r0 h¢ü&

(A) 330 dJ© go0 _r0

(B) 360 dJ© go0 _r0

(C) 336 dJ© go0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


17/MV/M–2023–09 MAT (S)/11-A 32

84. The denominator of a fraction

is two more than its numerator.

If the sum of the fraction and

its reciprocal is 2
4

15
, then the

fraction is

(A)
5

3

(B)
3

5

(C)
5

7

(D) More than one of the above

(E) None of the above

85. The cost of carpeting a room

15 m long with a carpet 75 cm

wide at R70 per metre is

R8,400. The width of the room is

(A) 9 m

(B) 8 m

(C) 6 m

(D) More than one of the above

(E) None of the above

86. If seven times the seventh term

of an AP is equal to eleven times

its eleventh term, then its

eighteenth term is equal to

(A) -17

(B) -1

(C) 0

(D) More than one of the above

(E) None of the above

87. A wire is looped in the form of

a circle of radius 28 cm. It is

rebent into a square form.

Determine the length of the side

of the square.

(A) 44 cm

(B) 54 cm

(C) 40 cm

(D) More than one of the above

(E) None of the above

88. Given

x

x

x=

-

-

-

æ

è

ç

ö

ø

÷

ì

í

ï
ï

î

ï

ï

ü

ý

ï
ï

þ

ï

ï

¹

1

2
1

2
1

2

2, ( )

then x is equal to

(A) 1, 1

(B) -1, 1

(C) -1, -1

(D) More than one of the above

(E) None of the above
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84. EH$ {^fi H$m ha CgHo$ Aße go Xmo A{YH$ h°ü&

`{X {^fi Edß CgHo$ Ï`wÀH´$_ H$m `moJ 2
4

15
h°,

V~ {^fi h°

(A)
5

3

(B)
3

5

(C)
5

7

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

85. 15 _r0 bÂ~o, EH$ H$_ao _| 75 go0 _r0

Mm°ãS>r H$mbrZ {~N>mZo H$m IM© R70 ‡{V

_rQ>a Ho$ {hgm~ go R8,400 h°ü& H$_ao H$s

Mm°ãS>mB© h°

(A) 9 _r0

(B) 8 _r0

(C) 6 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

86. `{X {H$gr g_m›Va loUr (AP) Ho$ gmVdoß nX

H$m gmV JwZm CgHo$ Ω`mahdoß nX Ho$ Ω`mah JwZo

Ho$ ~am~a h°, V~ CgH$m AR>mahdm± nX h°

(A) -17

(B) -1

(C) 0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

87. EH$ Vma H$mo 28 go0 _r0 {Ã¡`m dmbo EH$

d•Œm Ho$ Í$n _| bnoQ>m J`m h°ü& Bgo EH$ dJm©H$ma

Í$n _| {\$a go _moãS>m OmVm h°ü& dJ© H$s ^wOm H$s

bÂ~mB© kmV H$s{OEü&

(A) 44 go0 _r0

(B) 54 go0 _r0

(C) 40 go0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

88. {X`m h°

x

x

x=

-

-

-

æ

è

ç

ö

ø

÷

ì

í

ï
ï

î

ï

ï

ü

ý

ï
ï

þ

ï

ï

¹

1

2
1

2
1

2

2, ( )

V~ x ~am~a h°

(A) 1, 1

(B) -1, 1

(C) -1, -1

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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89. The area of a sector of angle q° of

a circle with radius R is

(A)
2

180

p qR

(B)
2

360

p qR

(C) p qR 2

360

(D) More than one of the above

(E) None of the above

90. The ratio of incomes of two

persons is 9 : 7 and the ratio

of their expenditures is 4 : 3. If

each of them manages to save

R2,000 per month, then their

monthly incomes are

(A) R18,000 and R14,000

(B) R27,000 and R21,000

(C) R36,000 and R28,000

(D) More than one of the above

(E) None of the above

91. A factory manufactures 120000

pencils daily. The pencils are

cylindrical in shape, each of

length 25 cm, and circum-

ference of base is 1·5 cm. Then

the cost of colouring the curved

surfaces of the pencils

manufactured in one day at

R0·05 per dm2 is

(A) R22,500

(B) R2,25,000

(C) R2,250

(D) More than one of the above

(E) None of the above

92. Consider the system of linear

equations x y- + =1 0 and

3 2 12 0x y+ - = . The coordinates

of the vertices of the triangle

formed by these lines and the

y-axis are

(A) ( , )2 1- , ( , )0 5 and ( , )0 5-

(B) ( , )2 1- , ( , )5 0 and ( , )-5 0

(C) ( , )2 3 , ( , )0 1 and ( , )0 6

(D) More than one of the above

(E) None of the above

93. A cubical ice-cream bar of

edge 22 cm is to be distributed

among some children by filling

ice-cream cones of radius 2 cm

and height 7 cm up to its brim.

How many children will get the

ice-cream cones?

(A) 163

(B) 263

(C) 363

(D) More than one of the above

(E) None of the above
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89. {Ã¡`m R dmbo EH$ d•Œm Ho$ q° H$moU dmbo

{Ã¡`I�S> H$m joÃ\$b h°

(A) 2

180

p qR

(B)
2

360

p qR

(C) p qR 2

360

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

90. Xmo Ï`{∫$`m| H$s Am` H$m AZwnmV 9 : 7 h°

VWm CZHo$ IMm] H$m AZwnmV 4 : 3 h°ü& `{X

XmoZm| _| ‡À`oH$ H$s _m{gH$ ~MV R2,000

h°, Vmo CZH$s _m{gH$ Am` h°

(A) R18,000 Am°a R14,000

(B) R27,000 Am°a R21,000

(C) R36,000 Am°a R28,000

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

91. EH$ \°$äQ>ar ‡{V{XZ 120000 n|{gb ~ZmVr

h°ü& n|{gbm| H$m AmH$ma ~obZmH$ma h°ü& ‡À`oH$

H$s bÂ~mB© 25 go0 _r0 VWm AmYma H$s

n[a{Y 1·5 go0 _r0 h°ü& V~ EH$ {XZ _| ~ZmB©

JB© n|{gbm| Ho$ dH´$n•>m| na aßJ H$admZo H$m IM©

R0·05 ‡{V dJ© S>ogr _r0 H$s Xa go hmoJm

(A) R22,500

(B) R2,25,000

(C) R2,250

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

92. a°{IH$ g_rH$aUm| Ho$ {ZH$m` x y- + =1 0

VWm 3 2 12 0x y+ - = na {dMma H$s{OEü&

BZ aoImAm| VWm y-Aj ¤mam ~ZZo dmbo {Ã^wO

Ho$ erfm] Ho$ {ZX}emßH$ h¢

(A) ( , )2 1- , ( , )0 5 VWm ( , )0 5-

(B) ( , )2 1- , ( , )5 0 VWm ( , )-5 0

(C) ( , )2 3 , ( , )0 1 VWm ( , )0 6

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

93. 22 go0 _r0 {H$Zmao dmbo EH$ KZmH$ma

AmBgH´$s_ ~ma H$mo 2 go0 _r0 {Ã¡`m Am°a

7 go0 _r0 D±$MmB© dmbo AmBgH´$s_ H$moZm| H$mo

D$na VH$ ^aH$a Hw$N> ~Ém| _| {dV[aV {H$`m

OmZm h°ü& {H$VZo ~Ém| H$mo AmBgH´$s_ H$moZ

{_b|Jo?

(A) 163

(B) 263

(C) 363

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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94. If O is any point inside a

rectangle ABCD, then

(A) OB OD OA OC2 2 2 2
+ = +

(B) OB OA OD OC2 2 2 2
+ = +

(C) OA OD OB OC2 2 2 2
+ = +

(D) More than one of the above

(E) None of the above

95. If the point C ( , )1 1 divides the

line segment joining A ( , )-2 7 and

B in the ratio 3 : 2 internally,

the coordinates of B are

(A) ( , )-3 3

(B) ( , )3 3-

(C) ( , )3 3

(D) More than one of the above

(E) None of the above

96. A manufacturer of TV sets

produced 600 sets in the third

year and 700 sets in the seventh

year. Assuming that the produc-

tion increases uniformly by a

fixed number every year, the

production of TV sets in the

10th year is

(A) 850

(B) 1000

(C) 775

(D) More than one of the above

(E) None of the above

97. Rajveer saves R32 during the

first month, R36 during the

second month and R40 during

the third month. If she

continues to save in this

manner, she will be able to save

R2,000 in

(A) 20 months

(B) 30 months

(C) 35 months

(D) More than one of the above

(E) None of the above

98. In an examination, one student

secured 30% marks and failed

by 45 marks. Another student

secured 42% marks and got

45 marks more than minimum

passing marks. Find the total

marks.

(A) 270

(B) 750

(C) 850

(D) More than one of the above

(E) None of the above

99. The mean of 20 numbers is zero.

Of them, at the most, how many

may be greater than zero?

(A) 19

(B) 1

(C) 10

(D) More than one of the above

(E) None of the above
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94. `{X Am`V ABCD Ho$ A›Xa O H$moB© {~›Xw

h°, V~

(A) OB OD OA OC2 2 2 2
+ = +

(B) OB OA OD OC2 2 2 2
+ = +

(C) OA OD OB OC2 2 2 2
+ = +

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

95. `{X {~›Xw C ( , )1 1, A ( , )-2 7 VWm B H$mo

{_bmZo dmbo aoImI�S> H$mo AmßV[aH$ Í$n go

3 : 2 Ho$ AZwwnmV _| {d^m{OV H$aVm h°, V~

B Ho$ {ZX}emßH$ h¢

(A) ( , )-3 3

(B) ( , )3 3-

(C) ( , )3 3

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

96. EH$ Q>r0 dr0 goQ> ~ZmZo dmbm Vrgao df© 600

goQ>m| VWm gmVdoß df© 700 goQ>m| H$m {Z_m©U

H$aVm h°ü& `h _mZVo h˛E {H$ {Z_m©U EH$g_mZ

Í$n go ‡À`oH$ df© EH$ pÒWa gßª`m go ~ãT>Vm

h°, 10d| df© _| {Z{_©V Q>r0 dr0 goQ>m| H$s

gßª`m h°

(A) 850

(B) 1000

(C) 775

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

97. amOdra ‡W_ _mh _| R32, {¤Vr` _mh _|

R36 VWm V•Vr` _mh _| R40 H$s ~MV

H$aVr h°ü& `{X dh Bgr ‡H$ma go bJmVma ~MV

H$ao, Vmo {H$VZo g_` _| R2,000 H$s ~MV

H$a boJr?

(A) 20 _mh

(B) 30 _mh

(C) 35 _mh

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

98. EH$ narjm _| EH$ N>mÃ Zo 30% AßH$ ‡m·

{H$E VWm dh 45 AßH$m| go AZwŒmrU© hmo J`mü&

Xygao N>mÃ Zo 42% AßH$ ‡m· {H$E, Omo CŒmrU©

hmoZo Ho$ {bE AmdÌ`H$ ›`yZV_ AßH$m| go 45

AßH$ A{YH$ h°ü& nyUm™H$ kmV H$s{OEü&

(A) 270

(B) 750

(C) 850

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

99. 20 gßª`mAm| H$m _m‹` ey›` h°ü& CZ_| go,

A{YH$-go-A{YH$, {H$VZo ey›` go A{YH$ hmo

gH$Vo h¢?

(A) 19

(B) 1

(C) 10

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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100. Suhit borrowed R6,300 at the

rate of 14% for 3 years on simple

interest from Vikas. Suhit added

some amount in the principal

amount and gave it to Mohit at

the rate of 16% for the same

period with simple interest.

During this transaction, Suhit

earned R618. The amount

which Suhit gave to Mohit was

(A) R7,000

(B) R6,800

(C) R7,200

(D) More than one of the above

(E) None of the above

101. For a symmetrical frequency

distribution, we have

(A) mean < median < mode

(B) mean > mode > median

(C) mean = median = mode

(D) More than one of the above

(E) None of the above

102. One wall clock was set at

8:00 a.m. in the morning. This

clock runs 10 minutes fast

during 24 hours. Next day when

this clock shows 1:00 p.m. in

the afternoon, the correct time is

(A) 40 minutes passed 12 noon

(B) 45 minutes passed 12 noon

(C) 48 minutes passed 12 noon

(D) More than one of the above

(E) None of the above

103. The mean and mode of a

frequency distribution are 28

and 16 respectively. The median

is

(A) 24

(B) 23·5

(C) 22

(D) More than one of the above

(E) None of the above

104. Some money has been borrowed

on compound interest. After

2 years and 3 years, the

principal turns out to be R9,680

and R10,648 respectively. Then

the principal is

(A) R8,000

(B) R9,000

(C) R7,000

(D) More than one of the above

(E) None of the above

105. Two different dice are rolled

together. Find the probability of

getting the sum of numbers on

two dice to be 5.

(A)
1

9

(B)
1

4

(C)
1

6

(D) More than one of the above

(E) None of the above
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100. gw{hV Zo {dH$mg go gmYmaU „`mO na 14%

dm{f©H$ Xa go 3 df© Ho$ {bE R6,300 CYma

{bEü& gw{hV _ybYZ _| Hw$N> Am°a YZam{e

OmoãS>H$a _mo{hV H$mo CVZr hr Ad{Y Ho$ {bE

16% dm{f©H$ Xa na gmYmaU „`mO na CYma

Xo {XEü& Bg boZ-XoZ _| gw{hV H$mo R618 H$m

bm^ h˛Amü& gw{hV ¤mam _mo{hV H$mo CYma Xr h˛B©

am{e Wr

(A) R7,000

(B) R6,800

(C) R7,200

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

101. EH$ g_{_V Amd•{Œm {dVaU Ho$ {bE h_mao

nmg h°

(A) _m‹` < _mp‹`H$m < ~h˛bH$

(B) _m‹` > ~hwbH$ > _mp‹`H$m

(C) _m‹` = _mp‹`H$m = ~h˛bH$

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

102. EH$ Xrdma KãS>r _| ‡mVÖ 8:00 ~Oo R>rH$ g_`

H$a {X`m J`m Wmü& `h KãS>r 24 KßQ>o _|

10 {_ZQ> AmJo MbVr h°& AJbo {XZ O~ Bg

KãS>r _| Xmonha Ho$ 1:00 ~Oo hm|, Vmo BgH$m

R>rH$ g_` hmoJm

(A) Xmonha 12 ~OH$a 40 {_ZQ>

(B) Xmonha 12 ~OH$a 45 {_ZQ>

(C) Xmonha 12 ~OH$a 48 {_ZQ>

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

103. EH$ Amd•{Œm ~ßQ>Z Ho$ _m‹` Am°a ~h˛bH$

H´$_eÖ 28 Am°a 16 h¢ü& _mp‹`H$m h°

(A) 24

(B) 23·5

(C) 22

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

104. MH´$d•{’ „`mO na {XE JE YZ Ho$ 2 df© VWm

3 df© Ho$ {_lYZ H´$_eÖ R9,680 VWm

R10,648 hmo OmVo h¢ü& _ybYZ hmoJm

(A) R8,000

(B) R9,000

(C) R7,000

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

105. Xmo AbJ-AbJ nmgm| H$mo EH$gmW CN>mbm

OmVm h°ü& XmoZm| nmgm| na AmZo dmbr gßª`mAm|

H$m `moJ 5 hmoZo H$s ‡m{`H$Vm kmV H$s{OEü&

(A)
1

9

(B)
1

4

(C)
1

6

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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106. When ( )x 31 31+ is divided by

( )x +1, the remainder is

(A) 0

(B) 1

(C) 30

(D) More than one of the above

(E) None of the above

107. One ticket is drawn at random

from a bag containing tickets

numbered 1 to 40. The

probability that the selected

ticket has a number, which is a

multiple of 7, is

(A)
1

7

(B)
1

8

(C)
7

40

(D) More than one of the above

(E) None of the above

108. A person bought a horse and

a car for R20,000. He sold the

horse with 20% profit and sold

the car with 10% loss. In this

transaction, he earned 2%

profit. Then the purchase cost of

the horse is

(A) R7,200

(B) R7,500

(C) R8,000

(D) More than one of the above

(E) None of the above

109. In a lottery, there are 6 prizes

and 24 blanks. What is the

probability of not getting a

prize?

(A)
3

4

(B)
3

5

(C)
4

5

(D) More than one of the above

(E) None of the above

110. The quadratic equation

ax bx c2 0+ + = ( )a ¹ 0

has two distinct real roots if

(A) the discriminant > 0

(B) the discriminant = 0

(C) the discriminant < 0

(D) More than one of the above

(E) None of the above

111. a and b are two positive integers

such that the least prime factor

of a is 2 and the least prime

factor of b is 5. Then the least

prime factor of a b+ is

(A) 3

(B) 5

(C) 8

(D) More than one of the above

(E) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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106. ( )x 31 31+ H$mo ( )x +1 go {d^m{OV H$aZo na

eof\$b ‡m· hmoVm h°

(A) 0

(B) 1

(C) 30

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

107. 1 go 40 VH$ H$s gßª`m dmbo {Q>H$Q>m| go ^ao

EH$ ~°J go `m—p¿N>H$ Í$n go EH$ {Q>H$Q>

{ZH$mbm OmVm h°ü& M`{ZV {Q>H$Q> H$s gßª`m 7

H$m JwUH$ hmoZo H$s ‡m{`H$Vm h°

(A)
1

7

(B)
1

8

(C)
7

40

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

108. EH$ Ï`{∫$ Zo EH$ KmoãS>m Edß EH$ H$ma

R20,000 _oß IarXoü& CgZo KmoãS>m 20%

bm^ na Edß H$ma 10% hm{Z na ~oMoü& Bg

boZ-XoZ _| Cgo 2% bm^ ‡m· h˛Amü& KmoãS>o H$m

H´$` _yÎ` h°

(A) R7,200

(B) R7,500

(C) R8,000

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

109. EH$ bm∞Q>ar _|, 6 nwaÒH$ma Am°a 24 [a∫$-ÒWmZ

h¢ü& nwaÒH$ma Z {_bZo H$s ‡m{`H$Vm ä`m h°?

(A)
3

4

(B)
3

5

(C)
4

5

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

110. {¤KmV g_rH$aU

ax bx c2 0+ + = ( )a ¹ 0

Xmo {^fi dmÒV{dH$ _yb aIVm h°, `{X

(A) {d{d∫$H$a > 0

(B) {d{d∫$H$a = 0

(C) {d{d∫$H$a < 0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

111. a Am°a b Xmo YZmÀ_H$ nyUm™H$ h¢, O°go {H$

a H$m g~go N>moQ>m A^m¡` JwUZI�S> 2 h°

Am°a b H$m g~go N>moQ>m A^m¡` JwUZI�S>

5 h°ü& a b+ H$m g~go N>moQ>m A^m¡`

JwUZI�S> h°

(A) 3

(B) 5

(C) 8

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

https://applink.adda247.com/d/XhqWf9lSap
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112. The line segment XY is parallel

to the side AC of DABC and it

divides the triangle into two

parts of equal areas. Then the

ratio
AX

AB
is

(A) 2 2

2

+

(B) 2 2

2

-

(C) 3 2

2

+

(D) More than one of the above

(E) None of the above

113. Which term of the AP

72, 63, 54, L

is 0?

(A) 8th

(B) 9th

(C) 10th

(D) More than one of the above

(E) None of the above

114. Consider a polynomial

x x x x4 3 29 3 8+ - - +

Given that two of its zeros are

- 3 and 3. Then the remaining

zeros are

(A) -3, -2

(B) 3, -2

(C) 3, 2

(D) More than one of the above

(E) None of the above

115. If
cos sin

cos sin

q q

q q

-

+

=

-

+

1 3

1 3
and

0 90° < < °q , then the angle q is

(A) 30°

(B) 60°

(C) 45°

(D) More than one of the above

(E) None of the above

116. If tan tan2 21 2q a= + , then

sin2
q is equal to

(A)
1

2
1 2( sin )+ a

(B) 1 2
+ sin a

(C)
1

2
1 2( cos )+ a

(D) More than one of the above

(E) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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112. `{X aoImI�S> XY, DABC H$s ^wOm AC Ho$

g_m›Va h° VWm `h {Ã^wO H$mo g_mZ joÃ\$b

dmbo Xmo ^mJm| _| {d^m{OV H$aVm h°, V~

AZwnmV
AX

AB
h°

(A) 2 2

2

+

(B) 2 2

2

-

(C) 3 2

2

+

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

113. g_m›Va loUr 72 63 54, , , L H$m H$m°Z-gm

nX 0 h°?

(A) 8dm±

(B) 9dm±

(C) 10dm±

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

114. ~h˛nX x x x x4 3 29 3 8+ - - + na

{dMma H$s{OEü& BgHo$ Xmo ey›`H$ - 3 Edß

3 {XE JE h¢ü& A›` ey›`H$ h¢

(A) -3, -2

(B) 3, -2

(C) 3, 2

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

115. `{X
cos sin

cos sin

q q

q q

-

+

=

-

+

1 3

1 3
VWm

0 90° < < °q h°, V~ H$moU q h°

(A) 30°

(B) 60°

(C) 45°

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

116. `{X tan tan2 21 2q a= + , V~ sin2
q

Ho$ ~am~a h°

(A)
1

2
1 2( sin )+ a

(B) 1 2
+ sin a

(C)
1

2
1 2( cos )+ a

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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117. Taxi charges in a city consist of

fixed charges and the remaining

depending upon the distance

travelled in kilometres. If a

person travels 60 km, he pays

R960 and for travelling 80 km,

he pays R1,260. Find the fixed

charges and the rate per

kilometre.

(A) R60 and R15/km

(B) R40 and R25/km

(C) R30 and R15/km

(D) More than one of the above

(E) None of the above

118. A vertical tower stands on a

horizontal plane and is

surmounted by a vertical

flagstaff of height h. At a point

on the plane, the angles of

elevation of the bottom and top

of the flagstaff are a and b

respectively. Then the height of

the tower is

(A)
tan

(tan tan )

a

b ah -

(B)
tan

(tan tan )

a

b ah +

(C)
h tan

tan tan

a

b a-

(D) More than one of the above

(E) None of the above

119. A girl of height 90 cm is walking

away from the base of a lamp-

post at a speed of 1·2 m/sec.

If the lamp is 3·6 m above the

ground, then the length of

the shadow of the girl after

4 seconds is

(A) 1·6 m

(B) 1·5 m

(C) 1·06 m

(D) More than one of the above

(E) None of the above

120. sin cos

sin cos

q q

q q

- +

+ -

1

1
is equal to

(A)
1

sec tanq q-

(B)
1

cosecq q- cot

(C)
1

cot tanq q-

(D) More than one of the above

(E) None of the above

https://applink.adda247.com/d/XhqWf9lSap
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117. {H$gr eha _| Q>°ägr ewÎH$ _| {ZpÌMV ewÎH$

em{_b hmoVm h° Am°a eof {H$bmo_rQ>a _| V` H$s

JB© Xyar na {Z^©a H$aVm h°ü& `{X H$moB© Ï`{∫$

60 {H$0 _r0 H$s `mÃm H$aVm h°, Vmo Cgo

R960 H$m ^wJVmZ H$aZm nãS>Vm h° Am°a

80 {H$0 _r0 H$s `mÃm Ho$ {bE dh

R1,260 H$m ^wJVmZ H$aVm h°ü& {ZpÌMV

ewÎH$ Am°a Xa ‡{V {H$bmo_rQ>a kmV H$s{OEü&

(A) R60 Am°a R15/{H$0 _r0

(B) R40 Am°a R25/{H$0 _r0

(C) R30 Am°a R15/{H$0 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

118. EH$ g_Vb _°XmZ na EH$ D$‹dm©Ya _rZma

pÒWV h° VWm Bg na EH$ PßS>m D$‹dm©Ya bJm

h° {OgH$s D±$MmB© h h°ü& _°XmZ na pÒWV {H$gr

{~›Xw go PßS>o Ho$ AmYma Edß {eIa Ho$ Cfi`Z

H$moU H´$_eÖ a Edß b h°ßü& _rZma H$s D±$MmB© h°

(A)
tan

(tan tan )

a

b ah -

(B)
tan

(tan tan )

a

b ah +

(C)
h tan

tan tan

a

b a-

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

119. EH$ bãS>H$s {OgH$s D±$MmB© 90 go0 _r0 h°,

EH$ b°ÂnnmoÒQ> go 1·2 _r0/goH$�S> H$s J{V go

MbVr h°ü& `{X b°Ân ^y{_ go 3·6 _r0 H$s

D±$MmB© na h°, V~ 4 goH$�S> nÌMmV≤ bãS>H$s H$s

N>m`m H$s bÂ~mB© hmoJr

(A) 1·6 _r0

(B) 1·5 _r0

(C) 1·06 _r0

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht

120. sin cos

sin cos

q q

q q

- +

+ -

1

1
~am~a h°

(A)
1

sec tanq q-

(B)
1

cosecq q- cot

(C)
1

cot tanq q-

(D) Cn`w©∫$ _| go EH$ go A{YH$

(E) Cn`w©∫$ _| go H$moB© Zht
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SPACE FOR ROUGH WORK / aµ\$ H$m`© Ho$ {bE ÒWmZ
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17/MV/M–2023–09 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

gm_m›` A‹``Z Edß J{UV
nÃ—3

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe

1. `h ‡ÌZ-nwpÒVH$m Xmo ^mJm| _| {d^m{OV h°—^mJ–I Edß ^mJ–IIü& ^mJ–I _| gm_m›` A‹``Z VWm ^mJ–II _| J{UV Ho$ ‡ÌZ h¢ü&
2. ^mJ–I _| ‡ÌZ gßª`m 1 go 40 VH$ VWm ^mJ–II _| ‡ÌZ gßª`m 41 go 120 VH$ h¢ü& g^r ‡ÌZ Am°a CZHo$ CŒma AßJ´oOr Edß {h›Xr _|

_w{–V  h¢ü&
3. ^mJ–I Edß ^mJ–II Ho$  ‡ÌZm|  Ho$  CŒma  X|ü&
4. g^r ‡ÌZm|  Ho$  AßH$  g_mZ  h°ßü&
5. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm

_w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gß0 46 Am°a 47) g{hV nyao 48 _w{–V n•> h¢ Am°a H$moB©
‡ÌZ `m n•> {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _| {H$gr ‡H$ma H$s Ãw{Q> nmZo na VÀH$mb
BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

6. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
7. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo drjH$ ¤mam AbJ go CŒma nÃH$ {X`m Om`oJmü& AnZo CŒma nÃH$ Ho$ n•>-1 na {ZYm©[aV ÒWmZ _|

AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$ Om±Mm Zht
Om`oJmü&

8. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go AdÌ`
Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma nÃH$ H$m ghr
_yÎ`mßH$Z Zht hmoJmü&

9. ‡À`oH$ ‡ÌZ Ho$ nm±M CŒmaçç(A), (B), (C), (D) Am°a (E) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a
AnZo CŒma nÃH$ na Aß{H$V H$a|ü& ‡À`oH$ ‡ÌZ Ho$ {bE Ho$db EH$ hr CŒma MwZZm h°ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$ _|
Aß{H$V ghr CŒmam| na {Z^©a  H$aoJmü&

10. CŒma nÃH$ _| ‡À`oH$ ‡ÌZ gßª`m Ho$ gm_Zo nm±M d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À`oH$ ‡ÌZ Ho$ {bE Ho$db EH$
CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _| {ZemZ bJmVo h¢,
Vmo AmnH$m CŒma JbV _mZm Om`oJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

11. CÂ_rXdma ¤mam ‡À`oH$ ‡ÌZ Ho$ JbV CŒma Ho$ {bE ‡ÌZ hoVw {Z`V {H$`o J`o AßH$m| H$m EH$-Mm°WmB© AßH$ X�S> Ho$ Í$n _| H$mQ>m Om`oJmü&
12. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm Ad{Y _| narjm ^dZ go ~mha

H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m AnZo gmW
bo OmZo H$s AZw_{V  h°ü&

13. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm AmnH$mo
X�S>  {X`m  Om gH$Vm h°ü&

14. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr narjm H$j
H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.

48 VS23

g_` : K�Q>o2 nyUm™H$ : 120

A

EA B C D, , ,

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	11_Cov-Eng_A
	11-(Common)-A
	11#A
	11_Cov-Hin_A
	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




